
;+s]t g+= ÷ljifo lzif{s                                                                                                                                      ? xhf/df 

             cGt/;/sf/L ljQLo x:tfGt/0f

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

!) cfly{s ljsf;

!)!) s[lif ३१००.०० ०.०० ३१००.०० ०.०० ०.००
ufpFkflnsf If]qleq nlxgf] e};L kfNg] s[ifsnfO{ 

k|f]T;fxg :j?k cg'bfg -k|lt nlxgf] e};L ? @ 

xhf/sf b/n]_ ufpFkflnsf If]q

!^) 

ls;fg ३२० ३२०
ufpFkflnsf If]qleq hf]Tg] uf]? kfNg] s[ifsnfO{ ? 

! xhf/sf b/n] xnf] lgdf{0fsf nflu cg'bfg 

ljt/0f ufpFkflnsf If]q

*) 

ls;fg ८० ८०

ufpFkflnsf If]q leqsf ls;fgx?n] ufpFkflnsfn] 

tof/ u/]sf] dfkb08 adf]lhd ;'Fu'/sf] gofF vf]/ 

agfpg rfx]df vf]/ lgdf{0fsf nflu ? @ xhf/sf 

b/n] cg'bfg ljt/0f ufpFkflnsf If]q

!)) 

ls;fg २०० २००
ufpFkflnsf If]qleq df5fkfngsf nflu 

ufpFkflnsfn] tof/ u/]sf] dfkb08 adf]lhd 

df5fkf]v/L lgdf{0f u/]sf ls;fgx?nfO{ df5fsf] 

e'/f lsGg cg'bfg ljt/0f - k|lt ls;fg ? !) 

xhf/sf b/n]_ ufpFkflnsf If]q !) ls;fg १०० १००
kz';]jf If]qnfO{ Psd'i7 ljlgof]hg ufpkflnsf If]q

pGgt hftsf] af]sf vl/b u/L s[ifs ;d"xnfO{ 

ljt/0f ug{] sfo{qmd २०० २००

kz'':jf:Yo ;]jf ;Fu ;DalGwt cf}ifwL / cf}hf/ 

vl/b १०० १००

kz' kfNg] s[ifsx?nfO{ 3f;sf] ljp÷lj?jf ljt/0f १०० १००

jflif{s ljsf; sfo{qmd @)&%÷&^

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog x'g] 

:yfg
nIo ljlgof]hg ? 

                                                             >f]t

cfGtl/s >f]t C0f hg;xeflutf
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qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog x'g] 

:yfg
nIo ljlgof]hg ? 

                                                             >f]t

cfGtl/s >f]t C0f hg;xeflutf

afv|fsf] vf]/ ;'wf/ sfo{qmd १५० १५०

afv|fkfng ;DaGwL tflnd sfo{qmd १०० १००

kz' ;]jf s]Gb|sf] nflu kmlg{r/ Joj:yfkg ५० ५०

t/sf/L v]tL 6g]n lgdf{0f cg'bfg j8f g+= ! १५० १५०

sfx'Flzjk'/ t/sf/L v]tL 6g]n lgdf{0f cg'bfg j8f g+= @ १५० १५०

t/sf/L v]tL 6g]n lgdf{0f cg'bfg j8f g+= # १५० १५०

kflnË6f/ t/sf/L v]tL cg'bfg j8f g+= $ १५० १५०

t/sf/L v]tL 6g]n lgdf{0f cg'bfg j8f g+= % १५० १५०

t/sf/L v]tL cg'bfg sfo{qmd j8f g+= ^ १५० १५०

t/sf/L v]tLsf nflu cg'bfg sfo{qmd j8f g+= & १५० १५०

t/sf/L tyf skmL vtL cg'bfg ljt/0f sfo{qmd j8f g+= * १५० १५०

ufpFkflnsf:t/Lo s[lif d]nf ;~rfng ufpFkflnsf If]q ४०० ४००

s[lif k|j4{gsf nlu afb/ lgoGq0f j8f g+= * १०० १००

!)@) pBf]u tyf jfl0fHo

!)#) ko{6g २१०० ० २१०० ० ०

b'j'Ë Eo" 6fj/ lgdf{0f j8f g+= # १३०० १३००

xf]d:6] Joj:yfkg-cfFkyf]s÷cv{nf5fk_ j8f g+= & ५०० ५००

u9L8fF8f vfg]kfgL Joj:yfkg tyf /fgLkf]v/L 

;+/If0f-u9L8fF8f_ j8f g+= * ३०० ३००

!)$) ;xsf/L २०० ० २०० ० ०

;xsf/L tflnd sfo{qmd ufpFkflnsf If]q २०० २००

!)%) ljlQo If]q

@) ;fdflhs ljsf;
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cfGtl/s >f]t C0f hg;xeflutf

@)!) lzIff ११४०० ४०० ११००० ० ०

ljBfnox?df :df6{ l6=eL= h8fg

ufpFsfo{kflnsfn] 

tf]s]adf]lhd ३०० ३००

P;=O=O= kl/Iff lbg] ljBfyLx?sf nflu c+u|]hL, 

ul0ft / lj1fg ljifosf] lgz'Ns sf]lrË sIff 

;~rfng

ufpFkflnsfsf ;j} 

dfWolds 

ljBfnox? ६०० ६००

k|fljlws, Joj;flos tyf SofDk; Joj:yfkg

sfo{kflnsfsf] 

lg0f{o adf]lhd ५०० ५००

z'Snf df=lj= sDKo'6/ vl/b j8f g+= ! ५०० ५००

lbks cfwf/e"t ljBfno ejg lgdf{0f j8f g+= ! ६०० ६००

cd/ df=lj sDkfpG8 lgdf{0f j8f g+= ! १०० १००

ef:s/ kf=lj= sDkfpG8 lgdf{0f j8f g+= ! १०० १००

u0f]z k|f=lj= sDkfpG8 lgdf{0f j8f g+= ! १०० १००

nflnu'/fFz k|f=lj= 5fgf lgdf{0f j8f g+= ! १०० १००

lzjzlQm ejg dd{t j8f g+= ! १०० १००

zlxbu+uf df=lj= 3]/fjf/ tyf cGo lgdf{0f j8f g+= @ १३०० १३००

zflGt dfWolds ljBfno ejg lgdf{0f j8f g+= # ९०० ४०० ५००

lesf{]6 cfwf/e""t ljBfno sDkfpG8 jfn lgdf{0f j8f g+= # २०० २००

;/:jtL cfwf/e"t ljBfno Joj:yfkg j8f g+= # १०० १००

s[i0f k|f=lj= sDkfpG8 lgdf{0f j8f g+= # १०० १००

sflnsf k|f=lj= dw'jg u]6 lgdf{0f j8f g+= $ १०० १००

kB Hof]lt cfwf/e"t ljBfno sDkfpG8 lgdf{0f j8f g+= $ १५० १५०

hghfu[lt k|f=lj= 3]/faf/ lgdf{0f j8f g+= % १०० १००

gfu k|f=lj 3]/faf/ lgdf{0f j8f g+= % १०० १००

l;4 cfwf/e"t ljBfno kmlg{r/ Joj:yfkg j8f g+= % २०० २००
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/fli6«o cfwf/e"t ljBfno j8f g+= % २०० २००

dx]Gb|f]bo df=lj= ejg lgdf{0f j8f g+= % ५०० ५००

hob'uf{ df=lj= ejg lgdf{0f j8f g+= % ४०० ४००

af/fxL k|f=lj= kmlg{r/ Joj:yfkg j8f g+= % १०० १००

afnljsf; k|f=lj= zf}rfno lgdf{0f j8f g+= ^ १०० १००

Hofld/]dfO{ k|f=lj= ejg dd{t j8f g+= ^ १५० १५०

>[+u df=lj= ejg lgdf{0f j8f g+= ^ १००० १०००

hNb]jL k|f=lj= 3]/faf/ lgdf{0f-sfG5]_ j8f g+= & २०० २००

cd/ cfwf/e"t ljBfno sDkfpG8-cv{nf5fk_ j8f g+= & २०० २००

c?0f k|f=lj sDkfpG8 lgdf{0f-drbfË_ j8f g+= & २०० २००

lzj;/:jtL df=lj= ejg lgdf{0f j8f g+= * १२०० १२००

cd/Hof]lt k|f=lj= sDkfpG8 lgdf{0f Pj+ ljB't 

h8fg-lem/af;_ j8f g+= * १०० १००

chDa/L k|f=lj= sDkfpG8 / k|j]zåf/ lgdf{0f-wf?Ë_ j8f g+= * १०० १००

afnlzIff lgs]tg df=lj= ejg lgdf{0f-kN6\ofË_ j8f g+= * ७०० ७००

@)@) :jf:Yo ३४०० ० ० ३४०० ०

:jf:Yo :j+;]ljsf k|f]T;fxg sfo{qmd गाउँपलिका ४०० ४००

g]kfn /]8qm; ;f];fO6L sf]6b/af/ pkzfvfnfO{ 

PDa'n]G; vl/b ug{ cg'bfg गाउँपलिका ६०० ६००

;]g]6/L Kof8 vl/b गाउँपलिका ४०० ४००

cfo'j{]b lrsT;f k4lt k|j4{g sfo{qmd गाउँपलिका २०० २००

 ;fd'bflos :jf:Yo OsfO ejg lgdf{0f, Ujf;n'Ë j8f g+= @ ५०० ५००

:jf:Yo rf}sL ejg /+u/f]ug Pj+ dd{t ;Def/ j8f g+= $ ३०० ३००
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cfo'j{]b ejg dd{t j8f g+= $ १०० १००

:jf:Yo rf}sL ejg dd{t j8f g+= % २०० २००

sf]6b/af/ :jf:Yo rf}sL ;fdfu|L vl/b j8f g+= & २०० २००

:jf:Yo rf}sL ejg lgdf{0f j8f g+= * ५०० ५००

@)#) vfg]kfgL tyf ;/;kmfO{ १८४७० २५१ १८२१९ ० ०

;/;kmfOsf nflu Psd'i7 ljlgof]hg गाउँपलिका ३०० ३००

vfg]kfgL kfOk vl/b गाउँपलिका २०० २००

cd/ dflj vfg]kfgL 6+sL dd{t tyf kfOknfOg 

lj:tf/ j8f g+= ! १०० १००

jo/8fF8f vfg]kfgL 6+sL lgdf{0f j8f g+= ! १०० १००

e'd{]nL vfg]kfgL of]hgf j8f g+= ! २०० २००

u}xf|v'bL vfg]kfgL 6+sL dd{t j8f g+= ! १०० १००

nf]Sdf 6\ofÍL lgdf{0f j8f g+= ! १०० १००

aa/lGb vfg]kfgL 6+sL dd{t tyf kfOknfOg 

lj:tf/ j8f g+= ! १०० १००

5t{]g:jfF/f vfg]kfgL 6+sL dd{t j8f g+= ! १०० १००

s6';] vfg]kfgL of]hgf r}gk'/ j8f g+= @ २०० २००

rfFku}/L s'jf lgdf{0f j8f g+= @ १०० १००

e'Ne'n] lnlˆ6Ë l;:6d vfg]kfgL of]hgf j8f g+= @ २००० २०००

k'/fgf] lh0f{ s'jf dd{t j8f g+= @ ५० ५०

nfd]:jfF/f 6+sL dd{t j8f g+= @ ५० ५०

l/hfNbL lnlˆ6Ë vfg]kfgL of]hgf j8f g+= # ४०० ४००

s'xLle/ vfg]kfgL of]hgf dd{t j8f g+= # १०० १००

tNnf] b'a'Ë Uofhf vfg]kfgL of]hgf dd{t j8f g+= # १०० १००
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sfgLa'8L vfg]kfgL 6|ofÍL lgdf{0f of]hgf j8f g+= # १०० १००

sf7La]n vfg]kfgL of]hgf j8f g+= # २०० २००

v';f{gL ldgfd vfg]kfgL of]hgf j8f g+= # ३०० ३००

8'd|] d'xfgaf6 l;sf{]6 dw'jg lnˆ6 l;:6d 

vfg]kfgL of]hgf j8f g+= $ १८०० १८००

dgfbL kfbL{ kFw]/f] dd{t j8f g+= $ १०० १००

/f]d'Ë 7'nf] kFw]/f] dd{t j8f g+= $ १०० १००

dgfbL wfk kFw]/f] dd{t j8f g+= $ १०० १००

s';'G8] gofFaf/L vfg]kfgL dd{t j8f g+= $ १०० १००

km/s:jfF/f vfg]kfgL of]hgf dd{t j8f g+= $ १०० १००

e]8fvf]nf vfg]kfgL of]hgf dd{t j8f g+= $ २०० २००

kflnË6f/ vfg]kfgL 6\ofÍL lgdf{0f j8f g+= $ २०० २००

j8fbL{ vfg]kfgL of]hgf j8f g+= $ १०० १००

/fDr]] vfg]kfgL s'jf dd{t j8f g+= $ ५० ५०

9fs|]vf]nf vfg]kflg dd{t j8f g+= $ २०० २००

5fxfbL vfg]kfgL of]hgf j8f g+= % १००० १०००

s]/fkfgL vfg]kfgL of]hgf j8f g+= % ६०० ६००

s[k]6f/ vfg]kfgL of]hgf j8f g+= % १०० १००

5ltag vfg]kfgL of]hgf j8f g+= % २०० २००

ag kFw]/f] 6+sL lgdf{0f j8f g+= % १०० १००

9sfn kFw]/f] vfg]kfgL of]hgf j8f g+= % २०० २००

s6';] vfg]kfgL of]hgf j8f g+= % १०० १००

ujfbL kFw]/f] vfg]kfgL of]hgf j8f g+= % १०० १००

/];f} vfg]kfgL of]hgf j8f g+= % ३०० ३००

a8x/] vfg]kfgL of]hgf j8f g+= % २०० २००
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ef]6] vfg]kfgL of]hgf j8f g+= % १०० १००

kfbL{ vfg]kfgL of]hgf j8f g+= % १०० १००

uf]s'nw'k dn]jf vfg]kfgL of]hgf j8f g+= % ३०० ३००

tNnf] afk'Ë ;f]nf/ lnlˆ6Ë vfg]kfgL of]hgf j8f g+= ^ ८०० ८००

r§ofË j}bf vfg]kfgL d'xfg dd{t j8f g+= ^ १०० १००

dh]/L vfg]kfgL 6\ofÍL lgdf{0f j8f g+= ^ १०० १००

as{8L vfg]kfgL 6\ofÍL lgdf{0f j8f g+= ^ १०० १००

w/dkfgL tNnf] kFw]/f] 6\ofÍL lgdf{0f j8f g+= ^ १०० १००

n}/] vfg]kfgL of]hgf dd{t ;Def/ j8f g+= ^ ५० ५०

rfln;] vfg]kfgL wf/f lgdf{0f j8f g+= ^ ७० १ ६९

hf]luvf]nf rkfËbL kFw]/f] lgdf{0f j8f g+= ^ १५० १५०

af]rfbL wf/fbL vfg]kfgL of]hgf j8f g+= & २३०० २३००

afx|la;] vfg]kfgL of]hgf j8f g+= & ५०० ५००

lr;fkfgL vfg]kfgL dd{t-k'/fgf]yf]s_ j8f g+= & २०० २००

lnlslGb vfg]kfgL dd{t j8f g+= & १०० १००

lr;fkfgL vfg]kfgL 6+sL lgdf{0f-kf]v/Le~HofË_ j8f g+= & १०० १००

/fgLkf]v/L lnlˆ6Ë vfg]kfgL of]hgf -kDk vl/b_ j8f g+= * ३०० ३००

l8lx lr;fkfgL vfg]kfgL of]hgf -ljB't 

6«fG;kmd{/ vl/b_ j8f g+= * ६०० ६००

h'Fu]kfgL uf]bL{ lnlˆ6Ë vfg]kfgL of]hgf j8f g+= * ४०० ४००

afNk'/ vfg]kfgL of]hgf-wf?Ë_ j8f g+= * २०० २००

3'/f{5x/f vfg]kfgL lj:tf/ of]hgf-kN6\ofË 

rfdkfgL_ j8f g+= * ७०० ७००

l;Gw'; vfg]kfgL of]hgf-kN6\ofË l;Gw';_ j8f g+= * १५० १५०

wf?Ë Ps 3/ Ps wf/f of]hgf-wf?Ë_ j8f g+= * १०० १००
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@)$) ;+:s[lt k|j4{g ४७०० ० ४७०० ० ०

ufpFkflnsf leqsf 3f6x?sf] Joj:yfkg गाउँपलिका ६०० ६००

;+:s[lt ;+/If0f / ;Dj4{g ;DaGwL sfo{qmd गाउँपलिका ३५० ३५०

led;]g dlGb/x? 3]/faf/ tyf 6«; lgdf{0f गाउँपलिका १५० १५०

k/Dk/fut kf]v/L tyf rf}tf/L ;+/If0f÷lgdf{0f गाउँपलिका ७०० ७००

v8sb]jL dlGb/ lgdf{0f j8f g+= # २०० २००

rl08yfg dlGb/ lgdf{0f j8f g+= # १०० १००

afh]a/fh' dlGb/ lgdf{0f-kNnf] lesf{6_ j8f g+= $ २०० २००

u9u9]Zj/ dlGb/ lgdf{0f j8f g+= % २०० २००

u0f]z:yfg dlGb/ 3]/faf/ lgdf{0f j8f g+= ^ १०० १००

n'Dkm]; gfudlGb/ lgdf{0f j8f g+= ^ १०० १००

9'+uf9] b]p/fnL dlGb/ dd{t j8f g+= ^ १०० १००

Hofld/]dfO{ dlGb/ Joj:yfkg tyf 3]/faf/ lgdf{0f
j8f g+= ^

४०० ४००

5fAbLa/fxL dlGb/ lgdf{0f j8f g+= & १०० १००

b'uf{ ejfgL dlGb/ Joj:yfkg-/fO{yf]s_ j8f g+= & २०० २००

sNof0fb]jL dlGb/ l;+l8 lgdf{0f j8f g+= & २०० २००

gofFrf}kf/L dd{t tyf ;'wf/ -ufpFkflnsf glhs_ j8f g+= & २०० २००

led;]g dlGb/ lgdf{0f of]hgf-gfnyf]s_ j8f g+= * ३०० ३००

b'uf{ ejfgL dlGb/ lgdf{0f-kN6\ofË_ j8f g+= * २०० २००

lzj dlGb/ dd{t / rf}tf/L lgdf{0f -kN6\ofË 

xl6of_
j8f g+= *

१०० १००

chDa/L dlGb/ kl/;/ /]lnË j8f g+= * २०० २००

@)%) v]ns'b tyf dgf]/Ghg १४०० १३०० ० १०० ०
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             cGt/;/sf/L ljQLo x:tfGt/0f

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog x'g] 

:yfg
nIo ljlgof]hg ? 

                                                             >f]t

cfGtl/s >f]t C0f hg;xeflutf

v]ns'b ;fdfu|L vl/b १०० १००

ufpFkflnsf:t/Lo elnan k|ltof]lutf १५० १५०

v]ns'b ;DaGwL ljljw sfo{qmd १५० १५०

;+o'Qm ldlnh'nL v]nd}bfg lgdf{0f j8f g+= ! २०० २००

kmfne~HofË elnan u|fpG8 lgdf{0f j8f g+= @ २०० २००

OGb|]0fL o'jf Sna elnan u|fpG8 lgdf{0f j8f g+= # १५० १५०

b'a'Ë afn pBfg lgdf{0f j8f g+= # १०० १००

l;4a'4 o'jf Sna v]ns'b d}bfg tf/af/ j8f g+= # ५० ५०

l;4af/fxL o'jf Sna elnan v]nd}{bfg lgdf{0f-

kN6\ofË_ j8f g+= * १५० १५०

e'O{b]jL o'jf Sna v]nd}bfg j8f g+= * १५० ५० १००

@)^)

n}+lus ;dfgtf tyf 

;fdflhs ;dfj]zLs/0f १९०० १९०० ० ० ०

nlIft ljsf; sfo{qmdsf nflu Psd'i7 गाउँपलिका १२०० १२००

ljkGg Ho]i7 gful/sx?nfO{ ufpFsfo{kflnsfsf] 

lg0f{o adf]lhd pkrf/ ;xfotf ljt/0f ३०० ३००

ljleGg lbj;, pT;j, ;df/f]x cflb dgfpg] 

sfo{qmd गाउँपलिका २०० २००

l;nfO{ s6fO{ tflnd j8f g+= @ २०० २००

#) k"jf{wf/ ljsf;
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             cGt/;/sf/L ljQLo x:tfGt/0f

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog x'g] 

:yfg
nIo ljlgof]hg ? 

                                                             >f]t

cfGtl/s >f]t C0f hg;xeflutf

#)!)

:yfgLo ;8s k'n tyf 

emf]n'Ë] k'n ८०६०० २१ ७२२५० ८३२९ ०

kf]v/L eGHofË lnjfË emfk'6f/ dfu{ गाउँपलिका २४०० २४००

9fqm]vf]nf k'n lgdf{0f गाउँपलिका २०००० २००००

emfk'6f/, sfFx', rfln;] x'Fb} b'j'Ë ;Ddsf] df]6/dfu{ 

sfnf]kq] गाउँपलिका ९००० ९०००

>+[uky df]6/dfu{ sfnf]kq] गाउँपलिका ९००० ९०००

sfG5]df]6/dfu{ gfnL Joj:yfkg tyf u|fe]n 

of]hgf ufpFkflnsf १२०० १२००

bz}+ ltxf/ nufotsf rf8kj{sf] k"jf{4df 

ufpFkflnsf If]qleq /x]sf ;8sx?sf] dd{t tyf 

;/;kmfO{ sfo{qmd

गाउँपलिका

१००० १०००

;'F8], v';f{gLldgfd, gfh'Ë, b'a'Ë dfu{ ;'wf/ गाउँपलिका १६०० १६००

x\o'd kfOk vl/b गाउँपलिका ७०० ७००

n'Dkm];, ;kfËbL, ?k6f/, u8u8L ;8s गाउँपलिका २४०० २४००

ClifËkf6g, kN6\ofË, P}/Lrf}kf/L ;8s गाउँपलिका ९०० ९००

vN8'e~HofË b'a'Ë df]6/dfu{ गाउँपलिका ५०० ५००

emfk'6f/ ahf/ Joj:yfkg -;8s sfnf]kq], 

gfnflgdf{{0f cflb_ गाउँपलिका १००० १०००

kN6\ofË e}+;]lsn] s[i0f df]6/dfu{ गाउँपलिका ६०० ६००

lesf{]6 l;sf{]]6 dw'jg df]6/dfu{ गाउँपलिका ७०० ७००

8fF8fv'bL nf]Sdf df]6/dfu{ j8f g+= ! ५०० ५००

:jfdL eGHofË Uofhfdf]6/dfu{ j8f g+= ! ३०० ३००

j[lGb3f6 :jfdLeGHofË df]6/dfu{ j8f g+= ! ४०० ४००

emfk'6f/ wf]jnf sf]Olbd df]6/dfu{ j8f g+= ! १३०० १३००

dflyNnf] ;]6fË tNnf] ;]6fË df]6/dfu{ j8f g+= ! ३०० ३००
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             cGt/;/sf/L ljQLo x:tfGt/0f

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog x'g] 

:yfg
nIo ljlgof]hg ? 

                                                             >f]t

cfGtl/s >f]t C0f hg;xeflutf

afnsf]6 sflnsf dlGb/ uf]/]6f] af6f] j8f g+= ! ३०० ३००

nf]Sdf 8'd|L:jfF/f df]6/dfu{ j8f g+= ! २०० २००

dgsfdgf dlGb/ uf]/]6f]af6f] j8f g+= ! २०० २००

a]N6f/ k[YjL6f/ l/Ë/f]8 df]6/dfu{ j8f g+= ! ७०० ७००

j[lGb3f6 xa{n] df]6/dfu{ j8f g+= ! ५०० ५००

dflyNnf] ;]6fË /fDr] df]6/dfu{ j8f g+= ! २०० २००

afFemf] ef]nf{ËbL rfFk:jfF/f df]6/dfu{ j8f g+= ! ५०० ५००

ldng df]6/dfu{ gfnf lgdf{0f j8f g+= ! ३०० ३००

:jfdf 8fF8fFaf6 ljZjsdf{ dlGb/ hfg] af6f] j8f g+= ! २०० २००

d'8LeGHofËb]vL a/eGHofË df]6/dfu{ j8f g+= ! २०० २००

8fF8faf/L nfË3f6f]n df]6/dfu{ lgdf{0f j8f g+= ! २०० २००

kmfne~HofË ;]t]ux/f s[lif df]6/dfu{ j8f g+= @ ३०० ३००

b]p/fnLb]lv rfln;] df6/dfu{ j8f g+= @ ४०० ४००

rf/3/] df]bLvf]nf df]6/dfu{ dd{t j8f g+= @ ९०० ९००

kmfne~HofË b]vL r}gk'/ df]6/dfu{ j8f g+= @ ४०० ४००

Ujf;n'Ë sf]Olbd df]6/dfu{ j8f g+= @ ३०० ३००

cfFke~HofË 7"Nwf/f df]6/dfu{ j8f g+= @ १०० १००

b]p/fnLb]lv lnjfË:jfF/f kf]v/Le~HofË ;8s j8f g+= @ ५०० ५००

Ujf;n'Ë ;8s dd{t j8f g+= @ ३०० ३००

gfh'Ë ;f]n'Ë lbpnLvf]nf df]6/dfu{ j8f g+= # ८०० ८००

lesf{]6 cr{NbL sfkmn8fF8f s'lxle/ df]6/dfu{ j8f g+= # २०० २००

l;h{gf ;'Gtnf s[lif df]6/dfu{ j8f g+= # ४०० ४००

sfkmn8fF8f Uofhf x'UbL df]6/dfu{ j8f g+= # ४०० ४००

b'j'Ë rfFk x'Fb} df:bL df]6/dfu{ j8f g+= # ४०० ४००

cr{NbL ;'F8] df]6/dfu{ j8f g+= # ७०० ७००
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             cGt/;/sf/L ljQLo x:tfGt/0f

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog x'g] 

:yfg
nIo ljlgof]hg ? 

                                                             >f]t

cfGtl/s >f]t C0f hg;xeflutf

8f]8]af/L alnd/fË a]n6f/ df]6/dfu{ :t/f]Gglt j8f g+= # ५०० ५००

cr{NbL alnd/fË uf]/]6f] af6f] lgdf{0f j8f g+= # १०० १००

tNnf] b'j'Ë sflG5a/fxL;Dd l;+l8 lgdf{0f j8f g+= # १०० १००

alnd/fË b]lv sflnul08sL ;Ddsf] df]6/dfu{ 

:t/f]GgtL j8f g+= # १०० १००

b'n]uf}+8f kflnË6f/ /fDr] l;/sf]6 ;8s j8f g+= $ १००० १०००

;fljs & g+= j8f ;'Gb/6f]n ;d]t l/Ë/f]8 

Joj:yfkg tyf u|fe]n j8f g+= $ ४०० ४००

gf/g6f/ df]6/dfu{ j8f g+= $ ५०० ५००

lesf{]6 kNnf]y/ ;8s u|fe]n j8f g+= $ २०० २००

dgfbL la:df]/ u'Dn]s df]6/dfu{ dd{t j8f g+= $ २०० २००

l;;f/f dnf{Ë3f6 df]6/af6f] dd{t j8f g+= $ १५० १५०

au}+rfaf6 kNnf] lesf{]6 ;8s dd{t j8f g+= $ २०० २००

dw'jg ju}+rfaf6 dflyNnf] 6f/;Dd ;8s u|fe]n 

of]hgf j8f g+= $ २०० २००

rl/kfgL 3b|s af6f] lr:g] j8f g+= % १०० १००

/];f} sn]/L vf]N;L sNe6{ lgdf{0f j8f g+= % २०० २००

hob'uf{ Hjfnf uf]/]6f] af6f] lgdf{0f j8f g+= % १०० १००

v';f{gL8fF8f lkkn6f/ df]6/dfu{ gfnf lgdf{0f tyf 

u|fe]n j8f g+= % ८०० ८००

afpg8fF8f a]N6f/L df]6/dfu{ j8f g+= % ३०० ३००

/hd'n ?k6f/ df]6/dfu{ j8f g+= % ४०० ४००

rl/kfgL df]6/dfu{ j8f g+= % ३०० ३००

dl/8fF8f df]6/dfu{ j8f g+= % १०० १००

kflt3f/L l8lx df]6/dfu{ j8f g+= % ५०० ५००

;fGgflg8fF8f d}gfaf; df]6/dfu{ j8f g+= % २०० २००
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             cGt/;/sf/L ljQLo x:tfGt/0f

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog x'g] 

:yfg
nIo ljlgof]hg ? 

                                                             >f]t

cfGtl/s >f]t C0f hg;xeflutf

lrt'jfvf]/ /];f] df]6/dfu{ ;'wf/ j8f g+= % २०० २००

uf]7fbL jfr]6f/ df]6/dfu{ j8f g+= ^ ३०० ३००

/fd8fF8f df]6/dfu{ j8f g+= ^ २०० २००

n'Dkm]; /];f} df]6/dfu{ dd{t j8f g+= ^ १०० १००

emf/]8fF8f Hjfnf df]6/dfu{ j8f g+= ^ १०० १००

8's'8fF8f df]6/dfu{ lgdf{0f j8f g+= ^ ६०० ६००

kf]v/LeGHofË Old/] df]6/dfu{ j8f g+= ^ १०० १००

d}bfg:jfF/f :ofn'Ë df]6/dfu{ j8f g+= ^ ४०० ४००

kTy/ufpF df]6/dfu{ j8f g+= ^ ४०० ४००

sfkmn8fF8f df]6/dfu{ j8f g+= ^ २०० २००

Hjfnfb]jL df]6/dfu{ lgdf{0f j8f g+= ^ ३०० ३००

3'kf{bL ;'gf/L y/ uf]/]6f] af6f] l;+l8 lgdf{0f j8f g+= ^ १०० १००

kmof{s8fF8f 7f8f] af6f] l;+l8 lgdf{0f j8f g+= ^ १०० १००

;fpg]kfgL kFw]/f] l;l8 lgdf{0f j8f g+= ^ १०० १००

nfdf7 7f8f]af6f] l;+l8 lgdf{0f j8f g+= ^ १०० १००

ufNhL tf?sf uf]/]6f]af6f] l;+l8 lgdf{0f j8f g+= ^ १०० १००

sNof0fb]jL df]6/dfu{ ;'wf/ tyf lj:tf/ j8f g+= & १२०० १२००

89Lag df]6/dfu{ gfnL lgdf{0f tyf u|fe]n of]hgf j8f g+= & १२०० १२००

Wof;Laf; df]6/dfu{ lgdf{0f j8f g+= & ४०० ४००

jfGhf df]6/dfu{ lgdf{0f j8f g+= & २०० २००

drbfË n'Ë]nLy/ df]6/dfu{ lgdf{0f j8f g+= & २०० २००

d'u'/8fF8f df]6/dfu{ lgdf{0f j8f g+= & १५० १५०

r]nf]Sdf df]6/dfu{ lgdf{0f j8f g+= & १५० १५०

enf{ËbL Hofld/] df]6/dfu{ lgdf{0f j8f g+= & २५० २५०
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             cGt/;/sf/L ljQLo x:tfGt/0f

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog x'g] 

:yfg
nIo ljlgof]hg ? 

                                                             >f]t

cfGtl/s >f]t C0f hg;xeflutf

afFemu/f km]r]8fF8f uf]/]6f]af6f] lgdf{0f j8f g+= & २०० २००

hNb]aL lrxfg] df]6/dfu{-l3l/Ëyf]s_ j8f g+= & १५० १५०

hGtL9'+uf v'kf{ËbL l;+l8 lgdf{0f of]hgf j8f g+= & १०० २१ ७९

drbfËaf6 lnlslGb uf]/]6f]af6f] /]lnË lgdf{0f 

of]hgf j8f g+= & १५० १५०

cfFkyf]s df]6/dfu{ gfnf lgdf{0f tyf u|fe]n 

of]hgf j8f g+= & १५० १५०

sNof0fb]jL hfg] uf]/]6f]af6f] lgdf{0f j8f g+= & २०० २००

dfemsf]6 ;fO6f]n df]6/dfu{ lgdf{0f-;fO6f]n_ j8f g+= * १५० १५०

demsf]6 nf}/Laf; df]6/dfu{ lgdf{0f-

ddmsf]6÷nf]/Laf;_ j8f g+= * १०० १००

cfn]ufpFb]vL b'O3/] led;]g dlGb/ ;Dd l;+l8 

lgdf{0f-b'O3/]_ j8f g+= * १०० १००

wf?Ë a'l~hË df]6/dfu{ lj:tf/-wf?Ë÷a'l~hË_ j8f g+= * ५०० ५००

wf?Ë 8'd|L:jfF/f ;8s dd{t -hfln eg{]_wf?Ë j8f g+= * १०० १००

8'd|L:jfF/fb]vL ;fty/;Dd l;+l8af6f] lgdf{0f-wf?Ë_ j8f g+= * २०० २००

kf]v/Lb]vL lem/af; ufpF;Dd hfg] l;+l8 af6f]-

lem/af;_ j8f g+= * १०० १००

j8f ejg 6|; lgdf{0f tyf kmlg{r/ Joj:yfkg-

kN6\ofË_ j8f g+= * ३०० ३००

;tLsf]6 kg]?yf]s lrGtfd0fL df]6/dfu{-;tLsf]6_ j8f g+= * २०० २००

r}t] l;Gw'; df]6/dfu{-cr{n] l;Gw';_ j8f g+= * ३०० ३००

wf?Ë cr{n] df]6/dfu{ j8f g+= * १०० १००

vfgLufpF df]6/dfu{ j8f g+= * २०० २००

;tLsf]6af6 >+[uky;Dd l;+l8 lgdf{0f j8f g+= * १०० १००

#)@) l;+rfO{ ५०० ० ० ५०० ०
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             cGt/;/sf/L ljQLo x:tfGt/0f

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog x'g] 

:yfg
nIo ljlgof]hg ? 

                                                             >f]t

cfGtl/s >f]t C0f hg;xeflutf

/hd'n s"nf] dd{t j8f g+= % १०० १००

dflyNnf] s6x/]] s'nf] dd{t j8f g+= % १०० १००

cfFk6f/L s"nf] dd{t j8f g+= % १०० १००

gf}lj;] s"nf] dd{t j8f g+= % १०० १००

afFemu/f s"nf] dd{t j8f g+= % १०० १००

#)#) ejg tyf ;x/L ljsf; २९६५० २९६५० ० ० ०

ufpFkflnsfsf] s]Gb|÷ejg lgdf{0f गाउँपलिका २००० २०००

lj>fd:yn lgdf{0f -k|ltIffno_ गाउँपलिका १००० १०००

9'+uf9] a;kfs{ Joj:yfkg गाउँपलिका ८०० ८००

ax'p2]ZoLo lbjf ;]jf s]Gb| lgdf{0f गाउँपलिका २००० २०००

ufpFkflnsf leq 3/sf] 5fgf ePsf kl/jf/nfO{ 

h:tfsf] 5fgf 5fpg cg'bfg ljt/0f

गाउँपलिका

४००० ४०००

;fj{hlgs zf}rfno lgdf{0f -uf]7fbL, cr{NbL, 

emfk'6f/, kN6\ofË j8fejg, ufpFkflnsf ejg / 

?k6f/, u'Dn]s ;fd'bflos ejg_

गाउँपलिका

१४०० १४००

emfk'6f/ afnSna ejg lgdf{0f j8f g+= ! २०० २००

uf]]/vsfnL cfdf;d"x ejg lgdf{0f j8f g+= ! ३०० ३००

;u/dfyf kGr]afhf o'jf Snj ejg lgdf{0f j8f g+= ! २०० २००

d]jf Uofhf uf]/vsfnL cfdf;d"x ejg lgdf{0f j8f g+= ! २०० २००

nfËfjf/L cfdf;d"x ejg lgdf{0f j8f g+= ! २०० २००

emfk'6f/ u]6 lgdf{0f j8f g+= ! ५०० ५००

kfFbbL{ cfdf ;d'x xn lgdf{0f j8f g+= ! २०० २००

b]p/fnL ;fd'bflos ejg lgdf{0f j8f g+= @ ५०० ५००

bd}u'7L ejg j8f g+= @ ३०० ३००
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             cGt/;/sf/L ljQLo x:tfGt/0f

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog x'g] 

:yfg
nIo ljlgof]hg ? 

                                                             >f]t

cfGtl/s >f]t C0f hg;xeflutf

lnjfË:jfF/f cfdf ;d"x ejg lgdf{0f j8f g+= @ ४०० ४००

;+ud ldq o'jf Snj ejg lgdf{0f j8f g+= @ ५०० ५००

Ujf;n'Ë u]6 lgdf{0f j8f g+= @ १०० १००

b'j'Ë cltly u[x lgdf{0f j8f g+= # ५०० ५००

cr{NbL ;fd'bflos ejg lgdf{0f j8f g+= # ८०० ८००

l/hfNbL ;fd'bflos ejg lgdf{0f j8f g+= # ८०० ८००

k|ultlzn cfdf;d"x ejg lgdf{0f j8f g+= # ४०० ४००

df}/Laf; ;fd'bflos ejg j8f g+= # ५०० ५००

ldng cfdf ;d"x ejg lgdf{0f j8f g+= # १०० १००

a]n6f/ k|ltIffno lgdf{0f j8f g+= # १०० १००

alnd/fË k|ltIffno lgdf{0f j8f g+= # १०० १००

s'lxle/ d08nL ejg dd{t j8f g+= # १०० १००

sflnsf cfdf;d"x, l;sf{]6 ejg lgdf{0f j8f g+= $ ४०० ४००

sf]lknf cfdf;d"x ejg lgdf{0f-kflnË6f/_ j8f g+= $ ३०० ३००

nflnu'/fFz cfdf ;d"x lj>fd:yn lgdf{0f-6fj/ glhs_j8f g+= $ १५० १५०

blnt ejg lgdf{0f j8f g+= $ ६०० ६००

blnt u'7L ejg lgdf{0f-yk|]s_ j8f g+= $ २०० २००

j8f sfof{nodf 6|;åf/f sf]7f lgdf{0f tyf 3]/faf/ j8f g+= $ ५०० ५००

k|ult dlxnf ;d"x ejg dd{t j8f g+= $ १०० १००

du/ ;+3 ejg lgdf{0f-l;sf{]6_ j8f g+= $ ४०० ४००

lesf{]6 ;fd'bflos ejg dd{t tyf ;'wf/ j8f g+= $ १५० १५०

hg hfu[lt cfdf ;d'x ejg lgdf{0f j8f g+= $ २०० २००

;fljs & 6f]n ejg lgdf{0f j8f g+= $ ३०० ३००

l;ª\u'jf6f/ dlGb/ lgdf{0f j8f g+= $ १०० १००
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             cGt/;/sf/L ljQLo x:tfGt/0f

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog x'g] 

:yfg
nIo ljlgof]hg ? 

                                                             >f]t

cfGtl/s >f]t C0f hg;xeflutf

;kfËbL ;fd'bflos ejg j8f g+= % ३०० ३००

>[li6 cfdf ;d"x ejg lgdf{0f j8f g+= % २०० २००

a'lGhË ;fd'bflos ejg lgdf{0f j8f g+= % ३०० ३००

blnt ejg lgdf{0f j8f g+= % २०० २००

kflt3f/L ;fd'bflos ejg lgdf{0f j8f g+= % २०० २००

hfu[lt cfdf ;d"x ejg lgdf{0f j8f g+= % १०० १००

u0f]z dlGb/ lgdf{0f, :jfld8fF8f j8f g+= % १०० १००

nfËfnL o'jf Snj ejg lgdf{0f j8f g+= ^ ४०० ४००

uf];fO cfdf ;d"x ejg lgdf{0f j8f g+= ^ ४०० ४००

ax'p2]ZoLo ;fd"bflos ejg lgdf{0f-rjfbL_ j8f g+= ^ १००० १०००

;Go;L6f/ o'jf Snj ejg lgdf{0f j8f g+= ^ ३०० ३००

lbn cfdf ;d"x ejg lgdf{0f j8f g+= ^ ३०० ३००

d08nL cfdf ;d"x ejg lgdf{0f j8f g+= ^ ३०० ३००

;u/dfyf cfdf ;d"x ejg lgdf{0f j8f g+= ^ ४०० ४००

rfln;] cfdf ;d"x ejg lgdf{0f j8f g+= ^ १०० १००

d}bfg:jfF/f cfdf ;d"x ejg 3]/fjf/ j8f g+= ^ १०० १००

sNof0fsf/L cfdf;d"x ejg lgdf{0f-sfG5]_ j8f g+= & ३०० ३००

rl08 ;fd'bflos ejg lgdf{0f-8l9jg_ j8f g+= & ३०० ३००

zlxb kfs{ tyf :tDe lgdf{0f j8f g+= & ७०० ७००

rGb|Hof]lt k|f=lj= zf}rfno lgdf{0f j8f g+= & २०० २००

nfnLu'/fFz o'jf Sna ejg lgdf{0f-wf?Ë_ j8f g+= * ६०० ६००

chDa/L cfdf ;d"x ejg lgdf{0f-lem/af;_ j8f g+= * २०० २००

ykf{Ë 5]lnË cfdf ;d"x ejg lgdf{0f-cr{n]_ j8f g+= * २५० २५०

l;h{gf cfdf ;d"x ejg lgdf{0f-;fO{6f]n_ j8f g+= * १०० १००

ClifË ;efxn lgdf{0f-b'O3/]_ j8f g+= * ५०० ५००
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             cGt/;/sf/L ljQLo x:tfGt/0f

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog x'g] 

:yfg
nIo ljlgof]hg ? 

                                                             >f]t

cfGtl/s >f]t C0f hg;xeflutf

u'Daf cw'/f] ejg lgdf{0f -P]/Lrf}kf/L_ j8f g+= * २०० २००

#)$)

phf{, n3' tyf ;fgf hnljB't -

j}slNks phf{ ;d]t_ २८९५० २७४५० ० १५०० ०

ufpFkflnsfsf ljBfnox?df ;f]nf/ h8fg गाउँपलिका १००० १०००

ufpFkflnsfsf ;8sx?df ;f}o ;8s aQL h8fg गाउँपलिका ६२५० ६२५०

ufpFkflnsf leq ljB'tLs/0f गाउँपलिका २१२०० २१२००

lj;df]/ u'Dn]s ljB'tLs/0f of]hgf j8f g+= $ ४०० ४००

u'Dn]s n3'ljB't dd{t of]hgf j8f g+= $ १०० १००

#)%) ;~rf/

$) jftfj/0f tyf ljkb Joj:yfkg

$)!) jg tyf e";+/If0f ८०० ३०० ० ५०० ०

e"–;+/If0f If]qnfO{ Psd'i7 ljlgof]hg गाउँपलिका ५०० ५००

e"–;+/If0fsf nflu ;fd'bflos pTk|]/s kl/rfng गाउँपलिका ३०० ३००

$)@) hnfwf/ ;+/If0f

$)#) jftfj/0f ;+/If0f, hnjfo' kl/jt{g

$)$) kmf]xf]/d}nf tyf 9n Joj:yfkg १०० ० ० १०० ०

8:6ljg vl/b j8f g+= ^ १०० १००

$)%) hnpTkGg k|sf]k lgoGq0f

$)^) ljkb Joj:yfkg ५०० ५०० ० ० ०

ljkb Joj:yfkg sf]if गाउँपलिका ५०० ५००

$)&) jf?0f oGq ;Grfng
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qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog x'g] 

:yfg
nIo ljlgof]hg ? 

                                                             >f]t

cfGtl/s >f]t C0f hg;xeflutf

%)

;+:yfut ljsf;, ;]jf 

k|jfx / ;'zf;g

%)!) ;fdfGo ;]jf

%)@) ;'/Iff Joj:yfkg १०० १०० ० ० ०

k|x/L rf}sL Joj:yfkg-lesf{]6_ j8f g+= $ ५० ५०

ClifË k|x/L rf}sL /x]sf] s[lif ejgsf] 5fgf 

dd{t tyf kmlg{r/ Joj:yfkg
j8f g+= *

५० ५०

%)#) ;"rgf k|ljlw २०० २००

%)$) klGhs/0f Joj:yfkg २०० २००

%)%)

:yfgLo tYofÍ ;+sng / 

clen]v Joj:yfkg १०० १००

%)^) ;'zf;g k|j4{g 

gful/s j8fkq १०० १००

;fj{hlgs ;'g'jfO{ १०० १००

;dLIff uf]li7 १०० १००

;fdflhs kl/If0f १०० १००

h]=;L= kl/If0f १०० १००

P]g, lgod, sfo{ljlw 

nufotsf gLltut b:tfa]h 

tof/L २०० २००
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g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog x'g] 

:yfg
nIo ljlgof]hg ? 

                                                             >f]t

cfGtl/s >f]t C0f hg;xeflutf

%)&) cg';Gwfg tyf ljsf; २०० २००

%)*) cGoq juL{s[t gePsf]

e}k/L cfpg] k"FhLut vr{ १००० १०००

;dk'/s sf]if गाउँपलिका ६००० ६०००

o'jf :j/f]huf/ sfo{qmd गाउँपलिका २५०० २५००

ufpFkflnsfsf ;j} j8fx?df 

OG6/g]6 h8fg गाउँपलिका ६०० ६००

s'n hDdf ah]6 १९९३७०.०० ७३३७१.५२ १११५६९.००० १४४२९.४८४ ०.०००
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